ed Employees—-aRegular Nﬁmber
. of Hours":

9; eceived $23 for a 46 hour week,. his
,,,gula.r hourly rate. of ‘pay ‘was 50 .cents., -
20n‘October 24, 1938, he: became. erititfed
0:$23,50 for ‘that- same:46-hour week':([46
“h urs x 50 cents] {2, hours x_ 25 ‘cents])
i hiotirs .50 cents] -k [2 hovrs.x 75
3 :0n Qctober, 24,1939, he became
ntltled 1o $24. for: the same 46 hour week
-hours x50 cents] + . [4: hours ‘x 25,
1) ‘or([42 -hours x 50 cents]: e [4
“Hours % 75 centsl). .On October 24, 1940,
“he became - entitled”to .$24.50 -for- the same
-46 hour week ([46 Hours. %50 cents] .+ [6
.25 cents]) -or S(FAD hours X 50
6hours X 75 entsI) L

ed Empl ) —Irregz&lar o Flucm-

Thus if an employee back in. October

- in excess of 40, Thius; suppo

- of pay is 44 cénts an hour==($22,00:[(30° hours‘ :
0. .

-rates by the total. numb
in:theé-week, “For-his
emp[oyee ig entitled to
such egrnings, equwale
hourIy rate’ of pay; atri
mmultiplied by the number

works 30- hours a: week atian:

paying 40 cents “an “hour: 4
the same week. at-an - gecipation pay
cénts an hotir.. The employee’s, hottly.

X 40 eents) - (20-hours x50 cents)] =5
hours) and he is-entitled: to be: paid
wage .of $24.20. (30.hou
[20 houts-X 50 cents]. 4 [1 S

%:22; cents]). . In: ‘other words,’ the et
nloves is “entitled cto e naid. an amount

ating .umber oJ‘ H o5rs
an: empioyee earns $23 per weeﬁ

rate of ‘pay - each: weelk is Approxi-:
miafely:57.5 cén 0-cénts, 46:cénts-and:56.1
t5 especnvely ‘For the first week the
ee-is entitled to be-paid $23; for the-
ek $24 50 ($23 =& [6 hours. x 25
({40 honrs *x -50: cents] -+ {6
K 75 cents]) for:, the third week

- 5323, cents]) or
0 hiours X 46 cents]. 4 [10 hours x 69
ents]) for the fourth weelk approximately
($2 o o hotir: /28 cents}) or (5)0

Eztra: Compensation far. Overume Not In-'
luded Deierminmg Regular '
Rate of a;v T

not; be in¢ uded in’ determmmg i
's régular, hourly rate of pay:
employee’ eatns $19. 50 for 4 regu—'
ur workweek and-time: and a half
s’ g paid "{or all ‘Wounrs in ‘éxcess
he repulai Hourly’ rate of pay: is still
1 hour ‘and; if: the employee
d 146 houtsi oneé week; he would’ be
tle to$24,75 7 ([30: hoirks % 50 cents] =
% 75! centsly-or ([46 hours % 50
Z-overtinie hours . 25 ‘cents] ).
inci yplies-to pxgceworker-'

£ an enip _yee' durmg a stngle wurk-
Wo dlfferent rates’ of pay,
1y ‘rate’ “of pay, ‘ot whxch

12. If an employee earns $23 per vgv.eek”but works a
{fluctuating number of hours, his regular rate of pay will

|be the average hourly rate each week. Suppose that

during the course of four weeks the employee works

|40, 46, 50 and 41 hours. His regular hourly rate of

pay each week is approximately 57.5 cents, 50 cents,
46 cents and 56.1 cents, respectively. For the first
week the employee is entitled to be paid $23; for the

|second week $24.50 ($23 + [6 hours x 25 cents]) or
1([40 hours x 50 cents] + [6 hours x 75 cents]); for the

third week $25.30 ($23 + [10 hours x 23 cents]) or

1([40 hours x 46 cents] + [10 hours x 69 cents]); for the| -

fourth week approximately $23.28 ($23 + [1 hour x 28
cents]) or ([40 hours x 56.1 cents] + [1 hour x 84
cents]).

-vantageous for an:employer: to work:hi

-to"pay 'the former weekly wage: (!

" paying’timg.and -4 half- for 27 Ho
. question -of gefera ontract_ W

S to express any opinior Not

Copynght 1941 Commerce Cleanng Huuse, Ine.:

TTOT & VIUIaIIT O, T It rEtes

intended to. make it “economically “disad-.

employees excessive hours., If an emp
eliminates the excessive hotrs, he, is
no.statutory obhgatmn to mcrease ]
wage blll by ~increasing: ‘the Hour]
This opinion; iowever, is based sole
an [interpretation . of the ‘requirefiients
the Act.  Whether:in g particular -case
contract: between the eimployer -and hi

ployeis requires thielemployer. 6

case ‘supposed). in: splte ‘of the’ redact
hours® ‘40; or;requires the en inli
continug’{o: ‘work his ‘emplayee 42

which it is not the functich -6f

itself; h@wever, wtll rehev ‘
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12.  If an employee earns $23 per week but works a fluctuating number of hours, his regular rate of pay will be the average hourly rate each week.  Suppose that during the course of four weeks the employee works 40, 46, 50 and 41 hours.  His regular hourly rate of pay each week is approximately 57.5 cents, 50 cents, 46 cents and 56.1 cents, respectively.  For the first week the employee is entitled to be paid $23; for the second week $24.50 ($23 + [6 hours × 25 cents]) or ([40 hours × 50 cents] + [6 hours × 75 cents]); for the third week $25.30 ($23 + [10 hours × 23 cents]) or ([40 hours × 46 cents] + [10 hours × 69 cents]); for the fourth week approximately $23.28 ($23 + [1 hour × 28 cents]) or ([40 hours × 56.1 cents] + [1 hour × 84 cents]).




